BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF LIFT STATION NO. 2 TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS

MAY 31, 2024

LJA ENGINEERING, INC. E. MURPHY

MAY 31, 2024 0390-2304 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) M7 LAND DEVELOPMENT, LLC. \$826,517.00 2) PELTIER BROTHERS CONSTRUCTION \$962,263.00 3) GAEL INC \$965,037.00 4) 5J SERVICES, LLC \$1,052,000.00 5) HCG, LLC \$1,122,486.00 6) REDDICO CONSTRUCTION COMPANY, INC. \$1,133,609.00

CALENDAR DAYS - Phase-1 150/365, Phase-2 335/365



hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF LIFT STATION NO. 2
TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 31, 2024

207.002 110.		1) M7 LAND DEVELOPMENT, LLC.			OPMENT LLC	2) PELTIER BROTHERS	CONSTRUCTION	3) GAEL INC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SANITARY LIFT STATION ITEMS									
1 SITE WORK, EQUIPMENT SLABS, A AS SHOWN ON PLANS AND NOT LIS	IND ALL OTHER REQUIRED APPURTENACES STED AS A SEPARATE BID ITEM, INCLUDING G, HYDROMULCH SEEDING, SITE DRAINAGE,	LS	1	\$25,000.00	\$25,000.00	\$5,000.00	\$5,000.00	\$13,211.00	\$13,211.00
	L AND VALVE PAD, INCLUDING ACCESS ENANCES AS SHOWN ON DRAWINGS,	LS	1	\$320,704.00	\$320,704.00	\$535,000.00	\$535,000.00	\$331,647.00	\$331,647.00
	E PAD PIPING, INCLUDING PIPE, VALVES, PURTENANCES, COMPLETE IN PLACE	LS	1	\$86,790.00	\$86,790.00	\$70,000.00	\$70,000.00	\$72,521.00	\$72,521.00
499 GPM AND 68 FEET T.D.H. WITH	UMP WITH MINIMUM EFFICIENCY OF 62.3% AT ONE PUMP RUNNING, INCLUDING DISCHARGE PURTENANCES FOR PROPOSED PUMPS,	EA	2	\$35,230.00	\$70,460.00	\$15,000.00	\$30,000.00	\$21,054.00	\$42,108.00
5 7" REINFORCED CONCRETE PAVEN SUBGRADE, COMPLETE IN PLACE	MENT WITH 8" LIME OR CEMENT STABILIZED	SY	239	\$81.00	\$19,359.00	\$100.00	\$23,900.00	\$157.00	\$37,523.00
	ER WITH GEOFABRIC(TENSAR TRIAX TX 140 6 1 FOOT OUTSIDE FENCE, COMPLETE IN	SY	263	\$62.00	\$16,306.00	\$40.00	\$10,520.00	\$48.00	\$12,624.00
4' WIDE PEDESTRIAN GATE WITH P	DING 1-22' WIDE DOUBLE SWING GATE AND 1- RIVACY PANEL, (TO BE USED ONLY AS HOWN ON PLANS, COMPLETE IN PLACE	LF	245	\$98.00	\$24,010.00	\$120.00	\$29,400.00	\$116.00	\$28,420.00
8 8" DIAMETER PIPE BOLLARD, COMP	PLETE IN PLACE	EA	2	\$1,000.00	\$2,000.00	\$400.00	\$800.00	\$1,980.00	\$3,960.00
9 8" DIAMETER REMOVABLE PIPE BO	LLARD, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00	\$600.00	\$1,200.00	\$2,970.00	\$5,940.00
10 12" PVC ASTM D2241 SDR 26, SEWE EXCAVATION, BACKFILL AND BED		LF	41	\$400.00	\$16,400.00	\$200.00	\$8,200.00	\$879.00	\$36,039.00
11 6" AWWA C900, FORCE MAIN, DR 18 EXCAVATION, BACKFILL AND BEDD		LF	20	\$300.00	\$6,000.00	\$100.00	\$2,000.00	\$225.00	\$4,500.00
12 TRENCH SAFETY SYSTEM, ALL DEF	PTHS, COMPLETE IN PLACE	LF	61	\$157.00	\$9,577.00	\$1.00	\$61.00	\$55.00	\$3,355.00
13 1" SCHEDULE 40 PVC WATER LINE, EXCAVATION, BACKFILL AND BEDD		LF	15	\$100.00	\$1,500.00	\$20.00	\$300.00	\$60.00	\$900.00
	PRESSURE BACKFLOW PREVENTER, NON- ESSARY APPURTENANCES, COMPLETE IN	LS	1	\$6,000.00	\$6,000.00	\$600.00	\$600.00	\$5,782.00	\$5,782.00
15 STANDARD SANITARY MANHOLE AI BEDDING, BACKFILL, COMPLETE IN		EA	1	\$13,460.00	\$13,460.00	\$15,000.00	\$15,000.00	\$13,360.00	\$13,360.00
	I TO FORCE MAIN (BY OTHERS), INCLUDE ALL NECTORS OR STUB OUT AND PLUG,	EA	1	\$500.00	\$500.00	\$50.00	\$50.00	\$1,000.00	\$1,000.00
	EWER TO SANITARY SEWER (BY OTHERS) RS AND CONNECTORS OR STUB OUT AND	EA	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00
	/ICE WITH ALL DISCONNECTS, METERING, DUCT BANKS, COMPLETE IN PLACE	LS	1	\$75,090.00	\$75,090.00	\$50,000.00	\$50,000.00	\$62,060.00	\$62,060.00

0390-2304 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF LIFT STATION NO. 2 TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 31, 2024 LJA ENGINEERING, INC. E. MURPHY MAY 31, 2024

ESA JOB NO.		1) M7 LAND DEVELOPMENT, LLC.				2) PELTIER BROTHERS CONSTRUCTION 3) GAEL INC		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
19 NEW 80KW DIESEL GENERATOR, SUB-BASE FUEL TANK, ATS, CO AND DUCT BANK FROM GENERATOR TO ATS, COMPLETE IN PLACE	NCRETE PAD, LS	1	\$12,330.00	\$12,330.00	\$70,000.00	\$70,000.00	\$95,762.00	\$95,762.00
20 NEW DUPLEX LIFT STATION CONTROL PANELPER C.O.H. ETJ STA STARTERS, ALL CONTROLS AND DUCT BANK FROM LIFTPUMPS T CONTROL PANEL ANDCONCRETE PAD, COMPLETE IN PLACE		1	\$68,129.00	\$68,129.00	\$70,000.00	\$70,000.00	\$128,045.00	\$128,045.00
21 CONNECT PROPOSED WATER LINE TO WATER LINE (BY OTHERS NECESSARY ADAPROTS AND CONNECTORS OR STUB OUT AND COMPLETE IN PLACE		1	\$500.00	\$500.00	\$500.00	\$500.00	\$1,000.00	\$1,000.00
SANITARY LIFT STATION ITEMS SUBTOTAL:				\$778,115.00		\$922,631.00		\$900,757.00
MISCELLANEOUS ITEMS								
1 STORM WATER POLLUTION PREVENTION PLAN, INCLUDING ADI MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PLANS ANI BY THE ENGINEER, (TO BE MAINTAINED UNTIL CONTRACTOR'S N TERMINATION IS SUBMITTED), COMPLETE IN PLACE	D AS DIRECTED	1	\$4,000.00	\$4,000.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00
2 INSTALLATION, MAINTENANCE AND REMOVAL OF CONCRETE TR (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETI		1	\$500.00	\$500.00	\$500.00	\$500.00	\$2,500.00	\$2,500.00
3 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CO EXIT (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLET		1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
4 FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED BY THE COMPLETE IN PLACE	E ENGINEER), LF	270	\$3.00	\$810.00	\$2.00	\$540.00	\$6.00	\$1,620.00
5 DEWATERING FOR STRUCTURE, AS REQUIRED BY SOIL CONDITI USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLA		1	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
6 DEWATERING OF LINE WORK (TO BE USED ONLY AS DIRECTED E ENGINEER), COMPLETE IN PLACE	BY THE LF	61	\$1.00	\$61.00	\$1.00	\$61.00	\$30.00	\$1,830.00
7 CONTROL OF SURFACE WATER (TO BE USED ONLY AS DIRECTED ENGINEER), COMPLETE IN PLACE	D BY THE LS	1	\$1.00	\$1.00	\$1.00	\$1.00	\$1,500.00	\$1,500.00
8 INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTR DURING CONSTRUCTION, COMPLETE IN PLACE	OL DEVICES LS	1	\$3,000.00	\$3,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00
9 ROADWAY EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING (AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	OF STRIPPINGS, CY	350	\$10.00	\$3,500.00	\$10.00	\$3,500.00	\$28.00	\$9,800.00
10 ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLET		350	\$10.00	\$3,500.00	\$10.00	\$3,500.00	\$30.00	\$10,500.00
11 EXTRA CEMENT STABILIZED SAND, (1.5 SACKS OF CEMENT PER CEMENT STABILIZED SAND), (TO BE USED ONLY AS DIRECTED B' ENGINEER), COMPLETE IN PLACE		10	\$20.00	\$200.00	\$20.00	\$200.00	\$20.00	\$200.00
12 EXTRA 4,000 PSI CONCRETE WITH REINFORCING STEEL, (TO BE DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	USED ONLY AS CY	10	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00
13 EXTRA COST OF UTILITY WET SAND CONSTRUCTION, ALL LINE S DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), (PLACE		61	\$30.00	\$1,830.00	\$30.00	\$1,830.00	\$30.00	\$1,830.00
14 ALLOWANCE FOR ELECTRIC SERVICE AS DIRECTED BY THE PR USED ONLY AS DIRECTED BY THE ENGINEER). CHARGES FROM: SHALL BE PAID BY THE CONTRACTOR. THE AMOUNTS PAID, SUP INVOICES, SHALL BE INCLUDED IN PAY REQUESTS FOR REIMBU	THE PROVIDER PPORTED BY RSEMENT	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00

0390-2304 (9.2)

FRN F-1386 Page 3 of 7 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

BIDDING SUMMARY

TOTAL AMOUNT BASE BID

MISCELLANEOUS ITEMS SUBTOTAL:

SUBTOTAL SANITARY LIFT STATION ITEMS
SUBTOTAL MISCELLANEOUS ITEMS

DESCRIPTION

CONSTRUCTION OF LIFT STATION NO. 2
TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 31, 2024

0390-2304 (9.2)

		1) M7 LAND DEV	1) M7 LAND DEVELOPMENT, LLC.		ERS CONSTRUCTION	3) GAEL INC		
UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
			\$48,402.00		\$39,632.00		\$64,280.00	
			\$778.115.00		\$922.631.00		\$900.757.00	

\$48,402.00

\$826,517.00

Page 4 of 7 FRN F-1386 LJA Engineering, Inc.

\$39,632.00

\$962,263.00

\$64,280.00

\$965,037.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF LIFT STATION NO. 2 TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS MAY 31, 2024 LJA ENGINEERING, INC. E. MURPHY MAY 31, 2024

LJA JOB NO.		038	0-2304 (9.2)						
			4) 5J SERVIC	ES, LLC	5) HCG,	LLC	6) REDDICO CONSTRUCTION COMPANY, INC.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
SANITARY LIFT STATION ITEMS									
1 SITE WORK, EQUIPMENT SLABS, AND ALL OTHER REQUIRED APPURTENACES AS SHOWN ON PLANS AND NOT LISTED AS A SEPARATE BID ITEM, INCLUDING BUT NOT LIMITED TO SITE GRADING, HYDROMULCH SEEDING, SITE DRAINAGE, COMPLETE IN PLACE		1	\$15,000.00	\$15,000.00	\$58,000.00	\$58,000.00	\$5,172.00	\$5,172.00	
2 8' DIAMETER CONCRETE WET WELL AND VALVE PAD, INCLUDING ACCESS HATCHES, VENT, AND ALL APPURTENANCES AS SHOWN ON DRAWINGS, COMPLETE IN PLACE	LS	1	\$438,307.00	\$438,307.00	\$437,000.00	\$437,000.00	\$375,443.00	\$375,443.00	
3 SANITARY LIFT STATION AND VALVE PAD PIPING, INCLUDING PIPE, VALVES, FITTINGS, SUPPORTS, AND ALL APPURTENANCES, COMPLETE IN PLACE	LS	1	\$82,000.00	\$82,000.00	\$60,000.00	\$60,000.00	\$107,117.00	\$107,117.00	
4 25 HP SUBMERSIBLE NON-CLOG PUMP WITH MINIMUM EFFICIENCY OF 62.3% A 499 GPM AND 68 FEET T.D.H. WITH ONE PUMP RUNNING, INCLUDING DISCHARCELBOW, GUIDE RAILS, AND ALL APPURTENANCES FOR PROPOSED PUMPS, COMPLETE IN PLACE		2	\$15,000.00	\$30,000.00	\$29,000.00	\$58,000.00	\$54,737.00	\$109,474.00	
5 7" REINFORCED CONCRETE PAVEMENT WITH 8" LIME OR CEMENT STABILIZED SUBGRADE, COMPLETE IN PLACE	SY	239	\$80.00	\$19,120.00	\$150.00	\$35,850.00	\$112.00	\$26,768.00	
6 7" CRUSHED CONCRETE SITE COVER WITH GEOFABRIC(TENSAR TRIAX TX 140 OR APPROVED EQUAL) EXTENDING 1 FOOT OUTSIDE FENCE, COMPLETE IN PLACE	SY	263	\$55.00	\$14,465.00	\$70.00	\$18,410.00	\$67.00	\$17,621.00	
7 8-FOOT TALL WOOD FENCE, INCLUDING 1-22' WIDE DOUBLE SWING GATE AND 4' WIDE PEDESTRIAN GATE WITH PRIVACY PANEL, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER) AS SHOWN ON PLANS, COMPLETE IN PLACE	1- LF	245	\$165.00	\$40,425.00	\$125.00	\$30,625.00	\$143.00	\$35,035.00	
8 8" DIAMETER PIPE BOLLARD, COMPLETE IN PLACE	EA	2	\$1,100.00	\$2,200.00	\$625.00	\$1,250.00	\$1,142.00	\$2,284.00	
9 8" DIAMETER REMOVABLE PIPE BOLLARD, COMPLETE IN PLACE	EA	2	\$1,200.00	\$2,400.00	\$840.00	\$1,680.00	\$1,563.00	\$3,126.00	
10 12" PVC ASTM D2241 SDR 26, SEWER PIPE, ALL DEPTHS, INCLUDING EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	41	\$1,300.00	\$53,300.00	\$250.00	\$10,250.00	\$337.00	\$13,817.00	
11 6" AWWA C900, FORCE MAIN, DR 18, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING, COMPLETE IN PLACE	LF	20	\$150.00	\$3,000.00	\$150.00	\$3,000.00	\$288.00	\$5,760.00	
12 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE IN PLACE	LF	61	\$10.00	\$610.00	\$1.00	\$61.00	\$1.00	\$61.00	
13 1" SCHEDULE 40 PVC WATER LINE, ALL DEPTHS, INCLUDING FITTINGS, EXCAVATION, BACKFILL AND BEDDING COMPLETE IN PLACE	LF	15	\$100.00	\$1,500.00	\$15.00	\$225.00	\$58.00	\$870.00	
14 PROVIDE AND INSTALL REDUCED PRESSURE BACKFLOW PREVENTER, NON-FREEZE HOSE BIBB, AND ALL NECESSARY APPURTENANCES, COMPLETE IN PLACE	LS	. 1	\$6,500.00	\$6,500.00	\$6,200.00	\$6,200.00	\$6,027.00	\$6,027.00	
15 STANDARD SANITARY MANHOLE ALL DEPTHS INCLUDES EXCAVAVTION, BEDDING, BACKFILL, COMPLETE IN PLACE	EA	1	\$8,500.00	\$8,500.00	\$13,000.00	\$13,000.00	\$10,913.00	\$10,913.00	
16 CONNECT PROPOSED FORCE MAIN TO FORCE MAIN (BY OTHERS), INCLUDE AL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	LL EA	1	\$2,500.00	\$2,500.00	\$2,200.00	\$2,200.00	\$1,884.00	\$1,884.00	
17 CONNECT PROPOSED SANITARY SEWER TO SANITARY SEWER (BY OTHERS) INCLUDE ALL NECESSARY ADAPTORS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$3,270.00	\$3,270.00	
18 NEW 200A 480V PAD AMOUNT SERVICE WITH ALL DISCONNECTS, METERING, CONTROL RACK AND ASSOCIATED DUCT BANKS, COMPLETE IN PLACE	LS	1	\$51,000.00	\$51,000.00	\$81,000.00	\$81,000.00	\$81,489.00	\$81,489.00	

0390-2304 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF LIFT STATION NO. 2
TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 31, 2024
0390-2304 (9.2)

	4) 5J SERVICES, LLC			5) HCG,	LLC	6) REDDICO CONSTRUCTION COMPANY, INC.		
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
19 NEW 80KW DIESEL GENERATOR, SUB-BASE FUEL TANK, ATS, CONCRETE PAD, AND DUCT BANK FROM GENERATOR TO ATS, COMPLETE IN PLACE	LS	1	\$85,000.00	\$85,000.00	\$141,000.00	\$141,000.00	\$133,304.00	\$133,304.00
20 NEW DUPLEX LIFT STATION CONTROL PANELPER C.O.H. ETJ STANDARDS WITH STARTERS,ALL CONTROLS AND DUCT BANK FROM LIFTPUMPS TO NEW CONTROL PANEL ANDCONCRETE PAD, COMPLETE IN PLACE	LS	1	\$150,000.00	\$150,000.00	\$110,000.00	\$110,000.00	\$154,232.00	\$154,232.00
21 CONNECT PROPOSED WATER LINE TO WATER LINE (BY OTHERS) INCLUDE ALL NECESSARY ADAPROTS AND CONNECTORS OR STUB OUT AND PLUG, COMPLETE IN PLACE	EA	1	\$3,500.00	\$3,500.00	\$1,100.00	\$1,100.00	\$520.00	\$520.00
SANITARY LIFT STATION ITEMS SUBTOTAL:				\$1,012,827.00		\$1,073,851.00		\$1,094,187.00
MISCELLANEOUS ITEMS								
1 STORM WATER POLLUTION PREVENTION PLAN, INCLUDING ADMINISTRATION, MAINTENANCE, AND REMOVAL AS REQUIRED BY THE PLANS AND AS DIRECTED BY THE ENGINEER, (TO BE MAINTAINED UNTIL CONTRACTOR'S NOTICE OF TERMINATION IS SUBMITTED), COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$7,000.00	\$7,000.00	\$5,702.00	\$5,702.00
2 INSTALLATION, MAINTENANCE AND REMOVAL OF CONCRETE TRUCK WASHOUT (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,350.00	\$1,350.00	\$490.00	\$490.00
3 INSTALLATION, MAINTENANCE AND REMOVAL OF STABILIZED CONSTRUCTION EXIT (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$1,991.00	\$1,991.00
4 FILTER FABRIC FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	270	\$4.00	\$1,080.00	\$3.00	\$810.00	\$1.00	\$270.00
5 DEWATERING FOR STRUCTURE, AS REQUIRED BY SOIL CONDITIONS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$1,000.00	\$1,000.00	\$1.00	\$1.00
6 DEWATERING OF LINE WORK (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	61	\$1.00	\$61.00	\$45.00	\$2,745.00	\$1.00	\$61.00
7 CONTROL OF SURFACE WATER (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$1.00	\$1.00	\$1,000.00	\$1,000.00	\$1.00	\$1.00
8 INSTALL, MAINTAIN, AND REMOVE TEMPORARY TRAFFIC CONTROL DEVICES DURING CONSTRUCTION, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$3,176.00	\$3,176.00
9 ROADWAY EXCAVATION, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	350	\$10.00	\$3,500.00	\$8.00	\$2,800.00	\$1.00	\$350.00
10 ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	, CY	350	\$10.00	\$3,500.00	\$4.00	\$1,400.00	\$1.00	\$350.00
11 EXTRA CEMENT STABILIZED SAND, (1.5 SACKS OF CEMENT PER CUBIC YARD CEMENT STABILIZED SAND), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$20.00	\$200.00	\$20.00	\$200.00	\$20.00	\$200.00
12 EXTRA 4,000 PSI CONCRETE WITH REINFORCING STEEL, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$500.00	\$5,000.00	\$500.00	\$5,000.00	\$500.00	\$5,000.00
13 EXTRA COST OF UTILITY WET SAND CONSTRUCTION, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	61	\$30.00	\$1,830.00	\$30.00	\$1,830.00	\$30.00	\$1,830.00
14 ALLOWANCE FOR ELECTRIC SERVICE AS DIRECTED BY THE PROVIDER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER). CHARGES FROM THE PROVIDER SHALL BE PAID BY THE CONTRACTOR. THE AMOUNTS PAID, SUPPORTED BY INVOICES, SHALL BE INCLUDED IN PAY REQUESTS FOR REIMBURSEMENT WITHOUT A GENERAL CONTRACTOR MARKUP, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00

Page 6 of 7 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF LIFT STATION NO. 2
TO SERVE HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
MAY 31, 2024
LJA ENGINEERING, INC.
E. MURPHY
MAY 31, 2024
0390-2304 (9.2)

				4) 5J SERVICES, LLC		5) HC0	5) HCG, LLC		UCTION COMPANY, INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MISCELLANEOUS ITEMS SUBTOTA	AL:				\$39,173.00		\$48,635.00		\$39,422.00
BIDDING SUMMARY									
SUBTOTAL SANITARY LIFT STATIC	N ITEMS				\$1,012,827.00		\$1,073,851.00		\$1,094,187.00
SUBTOTAL MISCELLANEOUS ITEM	S				\$39,173.00		\$48,635.00		\$39,422.00
TOTAL AMOUNT BASE BID					\$1,052,000.00		\$1,122,486.00		\$1,133,609.00